DARING. . ™ & & & '®

PRODUCTS

CPASSENGER DRINK HOLDER 1481

CUSTOMER SERVICE

FITS: ALL '01-UP GL1800 MODELS
NOTE Universal Basket Holder will accept most average sized cups, cans, bottles, and
mugs with a 2" to 3 ¥2" diameter.

PARTS INCLUDED
1 Passenger Drink Holder/Offset Mount Arm Assembly
1 M8x 1.25 x 120mm Socket Head Cap Screw
1 Anti Seize Packet
1 Passenger Drink Holder Mount Kit
1 Wave Washer
1 1/4" Split Lock Washer
1 Hardware Kit
2 Shims
1  Thumb Nut
1 5/16" Split Lock Washer
1 Installation Instructions

INSTALLATION QUESTIONS

LIMITED WARRANTY

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY
AND/OR PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION
TO ALL INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES
REGARDING THE USE AND CARE OF THIS PRODUCT.

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR
SERIOUS INJURY.

CAUTION!  This indication alerts you to the fact that ignoring the contents described herein
can result in potential injury or material damage.

ATTENTION! This indication alerts you to the fact that ignoring the contents described herein
may negatively affect product performance and functionality. ABOUT OUR CATALOG

TOOLS SUGGESTED

Set of hex wrenches

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.

PROCEDURE - Please note that all hardware included may not be used for installation
STEP 1 Read and understand all steps in the instructions before starting the installation. Park
the motorcycle on a hard, level surface and turn off the ignition.

NOTE Universal Basket Holder will accept most average sized cups, cans, bottles, and
mugs with a 2" to 3 12" diameter.

CAUTION! Avoid damage to the motorcycle. Protect painted surfaces with a soft cloth or
blanket.

1481-12GL-1109




STEP 2 Remove the rear bolt (either side) on the passenger grab handle and set it aside. You will no
longer need it for this application.

Kuryakyn
STEP 3 |Insert the offset mount in to the hole and rotate it to the best orientation for function as well as v y
clearance.

CAUTION! The adjustability of the Drink Holder was not intended to prevent spills.

STEP 4 Secure the offset mount after applying anti seaize to the threads with the provided M8 x 1.25
x 120mm Socket Head Cap Screw.

STEP 5 Take the included wave washer and place it over the drink holder stud. Insert the stud through
the offset mount. Place the 1/4" split lock washer over the stud, apply anti seize to the threads and
secure it with the provided thumbnut.

STEP 6 Check the drink holder for proper clearance and function, when satisfied, secure all hardware.
ATTENTION! It is the installers responsibility to ensure that all of the fasteners (including pre-assembled)
are tightened before operation of the motorcycle. Kuryakyn will not warranty components lost due to
improper installation. Periodic maintenance may be required.

CAUTION! Do not overload the Drink Holder with excessive weight.

CAUTION! Kuryakyn is not responsible for items that may be stolen or damaged in relation to the use of
this product.

Ride On!

-
>
0
m

CPASSENGER DRINK HOLDER INSTALLATION )




